Chapter 20 – Practice Questions



1.
Which of the following is correct?

a.
Economic fluctuations are easily predicted by competent economists.

b.
Recessions have never occurred very close together.

c.
Other measures of spending, income, and production do not fluctuate closely with real GDP.

d.
None of the above is correct.


2.
Which of the following is correct concerning recessions?

a.
They come at fairly regular and predictable intervals.

b.
They are associated with comparatively large declines in investment spending.

c.
They are any period when real GDP growth is less than average.

d.
They tend to be associated with falling unemployment rates.


3.
According to classical macroeconomic theory, changes in the money supply affect

a.
real GDP and the price level.

b.
real GDP but not the price level.

c.
the price level, but not real GDP.

d.
neither the price level nor real GDP.


4.
Classical economist David Hume observed that as the money supply expanded after gold discoveries it took some time for prices to rise and in the meantime the economy enjoyed higher employment and production. This is inconsistent with monetary neutrality because

a.
monetary neutrality would mean that neither prices nor production should have risen.

b.
monetary neutrality would mean that production should have risen, but prices should not have.

c.
monetary neutrality would mean the prices should have risen, but production should not have changed.

d.
monetary neutrality would mean that prices and production should both have fallen.


5.
Other things the same, a fall in the economy's overall level of prices tends to

a.
raise both the quantity demanded and supplied of goods and services.

b.
raise the quantity demanded of goods and services, but lower the quantity supplied.

c.
lower the quantity demanded of goods and services, but raise the quantity supplied.

d.
lower both the quantity demanded and the quantity supplied of goods and services.


6.
Which of the following is correct?

a.
The short-run, but not the long-run, aggregate supply curve is consistent with the idea that nominal variables do not affect real variables.

b.
The long-run, but not the short-run, aggregate supply curve is consistent with the idea that nominal variables do not affect real variables.

c.
The long-run and short-run supply curves are both consistent with the idea that nominal variables affect real variables.

d.
Neither the long-run nor the short-run aggregate supply curve is consistent with the idea that nominal variables affect real variables.


7.
Some countries have high minimum wages and require a lengthy and costly process to get permission to open a business

a.
Reducing either the minimum wage or the time and cost to open a business would have no effect on the long-run aggregate supply curve.

b.
Reducing the minimum wage and the time and cost to open a business would both shift the long-run aggregate supply curve to the right.

c.
Reducing the minimum wage would shift long-run aggregate supply to the right. Reducing the time and cost to open a business would have no affect on the long-run aggregate supply curve.

d.
Reducing the minimum wage would have no affect on the long-run aggregate supply curve. Reducing the time and cost to open a business would shift the long-run aggregate supply curve to the right.


8.
The sticky-wage theory of the short-run aggregate supply curve says that when the price level is lower than expected, 

a.
production is more profitable and employment rises.

b.
production is more profitable and employment falls.

c.
production is less profitable and employment rises.

d.
production is less profitable and employment falls.


9.
Which of the following would cause prices and real GDP to rise in the short run?

a.
Short-run aggregate supply shifts right.

b.
Short-run aggregate supply shifts left.

c.
Aggregate demand shifts right.

d.
Aggregate demand shifts left.


10.
Policymakers who control monetary and fiscal policy and want to offset the effects on output of an economic contraction caused by a shift in aggregate supply could use policy to shift

a.
aggregate supply to the right.

b.
aggregate supply to the left.

c.
aggregate demand to the right.

d.
aggregate demand to the left.


11.
Which of the following will cause stagflation?

a.
an increase in the money supply

b.
an increase in oil prices

c.
a decrease in the money supply

d.
technical progress

ANSWERS:

1=D, 2=B, 3=C, 4=C, 5=B, 6=B, 7=B, 8=D, 9=C, 10=C, 11=B

